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I Reassessing the Dyomv (8n>»1 at end of previous Myw)
a  RwM: DML doesn’t eat nMIN but his wives do
i Question: how does he have wives? (Domv >»w1Tp are RININY PVITP only)
1 Answer #1 (»3K): his testes are seen
2 Answer #2 (¥37): “his women” means “his mother” (although he doesn’t reproduce, he generates 79221 for his mother)
b  xo0: mYmv doesn’t eat NMIM DWVTP
i Challenge (to X17): why mention myomv twice? (aR is easy — 1st is 97 'R — since his testes are seen — 2" is pav)
ii ~ Answer: R0 is providing explanation for kw1 — DML cannot eat because of M%7y pav
I Revisiting X110 27’s ruling that n57va wn is banned from nmn v”*1N
a  Suggestion: perhaps it is a »Ran nponn:
i p"m:mwn, a convert already 1M, 10p whose N1 was delayed, someone w/2 mbay: n%n (still) only during day
ii ~ w”ar: during day — only when it is 11111, otherwise, can be at night
iii implication: according to w”ar1, Twn is v"1N; according to P"n —n"nNn
iv  rejection: yop who was delayed is certainly not v"1n
v rather: dispute as to application of nyay (v. 1)
vi  parallel: dispute regarding burning of am (v. 2) after its first overtime day
1 ruling: 1Ny ’7: limited to daytime burning only nnra
2 rejoinder: X" — from nnra X5w n%n which must still be during day (certainly applies to n>n: D12y)
I nxrd performed by an %y
a  N™ (supported by &n»71) — v
i vp from Dy ,2av, who may not touch 1wyn yet may be nkon m v1pn; Y1 may touch v”yn >may be w1PN
ii  Challenge: Rn»72 which invalidates %791 D1omY *v1PP (N’ 1 adds ©IPNITIR since he invalidates nwR)
Answer: this follows »” who derived 57y from v. 3 — compared to &nv
Challenge: if so, 97y should always be grouped with xnv
Defense: they are grouped together in re: 515 5y
Block: that’s due to the impropriety of them appearing in nry
5  Rather: 57y is a RN unique to N9
b  Analyzing dispute between nmn’ "1 and 1121 regarding status of nWR (> VINITIR) for NRON N VITP
i Follows their positions:
1 117 permit anyone to participate except ywn
(a) text: v.4 denotes w& (not y"wn) for 198N navor and then associates same person with n"n wiTp
2 M7 permits jop, but forbids woman (2>vwnITIR)
(a) text:v.4 says jnn..anpY), indicating that some of those invalid for na’or are nw3 for VTP
(i) challenge: why invalidate woman?
(ii) Answer: states N1 (not nanM)
(iii) Retort (7227): mix of plural and singular allows for variation in number of n’av® and DwTpn
¢ Tangential point about n19: v. 5 describes Nt as "1nv” — i.e. someone is otherwise XNV>11 120 may do AR
IV Question asked of nww "1: may an Y7y eat »w Twyn?
a  Attempted proof to prohibit: (x:1) D132 Mwn which lists unique characteristics of 11327 NN not shared by 1wyn
and omits Y799 D OR 2 1Y must be an MR shared with Ywyn
b rejection: Xan omitted other unique characteristics, such as (2:1) "xmv2a NIYan NOR which only applies to 011321 TWYN
i similarly: he omitted 57y from &:1, even though it is unique to n>1132) "M N and not prohibited 1wyna
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